HREE (24~288)

J
8215”15%7(: (27~31

§
EES

1« 2825REE (20~278)

THEI1EFEE (55 1 F8) BFYIFTFIRE FREBTER RBRIIRERSSER
48 58 6H 78 8H =] 108 118 128 1B 28 38
[OCERGTI) AR k2 [ CERGT) [ ERGTI) [ ERGTI) [ ERGTI) [ ERGTI)
108 1| % 1| x 118 1K 1|8 1w 1|2 1]8 1| % 1] * 108
DigE M) ORE (BFD DiFE RN DiFE R DiFE R [ =N GT)) DiFE RN DiFE R
2 | w 2 | K 2|8 2 | w 2 | & 2|8 2 | % 2 | = 2|8 2 | K 2|8 2|8
[OCERGT) [OCERGT) BRE @2 [ CERGT) [EERGT) [ EERGT) [ ERCGTY) [ ERGTY) [ ERGTI)
3 | % 3|& 3|8 3 | & 3|t 3w 3| K 3|8 3w 3|& 3|8 3| w
DiFE RA) K RIR N [ =N GT)) DiFE R DiFE RN DiFE RN
4| K 4|t 4 | W |OK= BHFD 4| K 4|8 4 |k |@8E (2D 4| & 4|8 4| % 4| x 4w 4 | %
[OCERGT) [REERGT) [ CERGT) [ERGTY) [OEERGTY) [ERGTY) [ ERGTY) [ ERGTY)
5| & 5|8 5 | & 5| & 5|8 5| K 5|+ 5w 5K 5|8 5 | % 5| &
g R DFE R DFE R DFE R [OF ERGT)) [0 RGN [OF ERCT)) [OF EREGT)) OgE RRD
6| x 6|8 6 | Kk 6|t 6 | w 6|& 6|8 6 | % 6|& 6|8 6 | K 6|&
[CEEGT) [CERGT) [ERGTY) EEE [ CERGTY) [ ERGTY) [ ERGTY) [ ERGTY) [ ERGTY)
7|8 7w 7\ e 7|8 7| % 7t 7B 7K 7t 7w A 7t
[OF E=RGT)) [OF E=RGT)) [OF E=RGT)) [OF E=RGT)) [OF E=REGT)) [OF ERECT)) [OF EREGT))
8|8 8 | & 8|t 8|8 8 | K 8|8 8 | w 8| & 8|8 8 | % 8|t 8|8
[ CERGT) [CEEGT) [ CERGT) [ CERGTY) [ERGTY) [ CERGTY) [ ERGTY) [ ERGTY) [ ERCGTY) [ ERGTY) [ ERGTY)
9w 9| XK o|B 9w o|® 9| A 9 | & 9|+ 9| A 9| XK 9|8 9| A
[OF E=RGT)) [OF E=RGT)) [OF E=RGT)) [OF E=RGT)) [OF E=REGT)) [OF ERCT)) OgE RRD OgE RRD
10| % 10| & 10| B 10| 10| £ 10| W 10| & 10| B 10| W 10| & 10| B 10| W
[CERGT) [ CERGT) [ ERGTY) [ERGTY) [ ERGTY) [ ERGTY) [ ERGT) [ ERGTY)
11| & 11| £ 11| W 11| & 11| 8 11| & 1| & 11| 8 11| % 11| £ 11w 11| %
DfFE RA) [0 ERGT)) [0 NG [0 RGN [OF ERGT))
12| & 12| 8 12 % 12| & 12| 8 12| K 12| £ 12| w 12| K 12| B 12| % 12| K
[ CEEGT) [CERGT) [(CERGT) [(CERGT) [ ERGTY) [ERGTY) [(ERGTY) [ ERGTY)
13| = 13| B 13| & 13| £ 13| W 13| & 13| B 13| % 13| & 13| B 13| & 13| &
DfFEB &RA) [0 NG [0 NG OR= (BiF& [OF ERGT) [OF ERGT)) [OF ERGT) DfgE (R [ RGN
14| 8B 14| W 14| & 14| B 14| % 14| £ [EHRIBRHFARE (14| B 14| & 14| = 14| W 14| & 14|
[ CERGT) [R2EERGT) [ CERGT) A (@h®) [ ERGT) [ERGTY) [ ERGTY)
15| 8 15| % 15| = 15| 8 15| & 15| B |EERBRMAXRE (15| w 15| & 15| B 15| % 15| = 15| B
DfFE RA) [0 NG [0 RGN [OF ERGT) [OF RGN DfgE (R DfgE (RR)
16| W 16| & 16| B 16| W 16| & 16| A 16| % 16| £ 16| B 16| & 16| B 16| B
[CERGT) [CERGT) [CEEGT) [ ERGTY) [(ERGTY) [ ERGTY)
17| & 17| & 17| 8 17| & 17| £ 17| W 17| K 17| 8 17| W 17| & 17 B 17| W
[0 ERGT)) [0 RGN [OF E=RGTN)) [0 RGN
18| & 18| 18| W 18| & 18| B 18| % 18| & 18| B 18| % 18| £ 18| W 18| %
[CEEGT) [2ERGT) [ CEEGCT) [ EEGT) AR (@h®) [ ERGTY)
19| & 19| B8 19| %k 19| & 19| B 19| K 19| + |R¥MARE 19| W 19| K 19| 8 19| % 19| &
OAR= (ZDH) [0 NG [0 NG [0 RGN ORA (BiF& [OF E=RGTN)) [0 RGN o (1)
20| = 15@ RIBREFEFE | 20| B 20| & 20| = 20| w 20| & 20| B |R¥MARE 20| * 20| & 20| A 20| & 20| & gyﬁﬁ%ﬁl@ﬁ@bﬁ
E =
OAZE (Z0fb) [ CEEGT) NG AR (@F®) [ ERGTY) [ ERGTY)
21| 8 gﬁ%ﬁﬂtﬁﬁfﬂﬁ 21| w 21| & 21| 8 21 | x 21| = 21| B |R¥MARE 21| & 21| = 21| w 21| & 21| =
=
] [0 NG BNfZRLIERR DR [0 RGN
22| A 22| K | DB (RAD 22| = 22| A 22| A& 22| 8 22| w 22| & 22| 8 22| K 22| & 22| 8
[CEEGT) O ERGT)) [ CERGT) NG [ ERGT) [ ERGTY)
23| W 23| & 23| 8 23| W 23| & 23| B 23| K 23| + 23| B 23| K 23| B 23| B
[CERCTD) [CERGT) [CERGTD) ©AR (ZO) [ CERGT) [ CERGTY) [ EERGTI) [ ERGTI)
24 | K 24| & 24| A 24 | K 24| + |REFESRA=S 24| W 24 | & 24| 8 24| W 24| & 24| A 24| W
[OF ERGT)) [2EERGTD ORE (ZOfD) [ E=NGT)) DiFE RN DiFE RN DiFE RN
25| & 25| & SEIGE%Z@SMF@ 25| W 25| & 25| B |REFEEBFAR | 25| K 25| & 25| 8 25| %k 25| & 25| W 25| K
=
[0 E=RGT)) [0 NG [0 TRGT) [OF TREGT) [0 RGN
26| & 26| B 26| K 26| & 26| A 26| K 26| + 26| W 26 | & 26| B 26| K 26| &
[ CEEGCT) [ EEGT) OEERGTY)) DRE Bm) DRE Bm) [ ERGT)) [ ERGT)) [ ERGT))
27| + 27| 8 27| K 27| £ 27| W 27| & 27| 8 27| % 27| & 27| A 27| K 27| &
[0 ERGT)) [0 NG [0 NG [0 RGN [OF TRGT) [0 RGN [0 RGN [OF RGN
28| B 28| W 28| & 28| B 28| % 28| + 28| A 28| & 28| + 28| W 28| & 28| +
[CEEGCT) [ EEGT) [ EEGT) [ EEGT) DRE B NG [ ERGT))
29| B 29| K 29| + 29| B 29| K 29| 8 29| W 29| & 29| 8 29| % 29| * 29| 8
[ N [0 NG [0 NG [0 RGN [0 RGN [0 RGN [OF TRGT) [0 RGN
30| w 30| A& DB (A 30| 8 30| w 30| & 30| A 30| x 30| + 30| A 30| & 30| A
DiFE RA) DiFE RM) RIR N DiFE R DiFE R
31| & 31| % 31|+ 31| & | DB (R 31| W 31| & 31| W
[ TS5 - AT (80) TEEE (12~148) S (1~48) TGRS (90) ECUB L N =) R (79) RS TNRRRAR (118D ZE) DA T —TT 5T STHRE (80) TRO— w A= (3D FER (16D
FAEGHE (10~128) BHEERES (148) GERER (58) BREFEEARBAT (11~28 |20 (98) TEEE (24~278) BT —TYAD -+ 1« 2ER|EB mEIR (58) SINGESHAR (13~15 |1 - 2EZNPUF L (188)  [HEA — AR
EEER (1 28) Bl - DT AR (168) | 1~3ERNDH - SEATBEEH 8, ORHIAK S WBF rL VY (26 wHZWF 2~ (128) ISEEAS (68) 8) WRME (20~24) ﬂ%?ﬁ*ﬁ (10~138) LT iREY
3E=BEEH (18~248) FEER (298) (88 E)) 1 2EENBWTRE (198D 75 (8~108) BIEAS (238) 3FFERES (28~318) DEEIRBIAB (148)
TS - MFAR (268) BHAERR (318) E1@A-TV2I—)L (1 58) & (25~298) 2FHRR (248) 1EAYI—IYyT




